WR24FE AHIERIRR

BE0— K BERRG HENE 5 8 B 1B E B B 1B
402109 TR Nt SEHKREER | o 1,700,000 S - HERRTH i 5
i K
REHKRIGEE | of 1,378,000 FEEEE (RATSEST. ) nf 20,858
EREABKESHAD (H25331H7%) 68,576 A maEgKAD A 864 E VNS 7 0
B EEHKIER KR -
15;‘%7)({:73‘73‘%5(7)'\5 nf 330,000 IEE?E Pﬁﬁy [ 1
I AO . =
essmmimg | ooaemas | A 0 SEmAs | A !
I 5 W @ RIS = BEFKXEEE | 0 BEi2eE i i )
= (SBBKEODZED! i L
£33 m 2,418,973 ) A | A 0 o T 2
B TkiEs MEETHKIER R NEL - HRAME
[ nf 11,741,023 TEPKREERE | 0 SEBEN | A 10
WEAT 13 A e | A 0 s e 7
Eli RESBHEKHESR KR N
o Zoft G20 0 15;@;:73\73\%5(7)5 nt 0 SIERSH A 18
sms kT o 283,626 R aen | A 0 BIH i 6
i | IMERES AR O B
Zott nf 0 REPAXEEER | 0 SEEER A 17
e P 7 917 3225+ - ISV HEAD A 0 B T 0
FE%E SENSBEE = - p ~ N a5 ZOOTEE JEL7: .
SHREEE = 7 831 SHIESCBRIEAD A 21,607 Pt SERSH IN 0
BEIES (HETRD m 81,375  HETAITINER 2 S 7 L it 9
REH | e
MBIER (HEIAD) m 281,906 [P —EPEIFASIIMER B & 0.0 SIS A 10
)uji?ﬂaﬂt
MBAD A 22,406 ¥ gpa ORISR A 1 L foit 0
v I - po B L3
FRIINES W 22,152 ¥ —wEsESTIES B 0.0 SEREN | A 0
R
R L, EEAD A 65,576 ms, DOATER P e 0 " E i 3
FRIINES . 19,509 Nh _mmmmsiEs @R W 0.0 SEREN | A 0
—_— HEE A 7,212 = A mit gﬁgg%g REIAITTEER ERTE [0 1 5 B T 1
SV SE] in —=Ju
EaE K —EBHESE | A 0 = w—4L | —BIBHESIIER BT T 0.0 SIERMEH A 1
D i P mEEE A 0 pae, TONTER  EFE @ 0 REEYS— B i !
BHORE _gemman A 0 TR _ummmsmR BR m 0.0 0 a5 i 0
REHKAD | A 8056 | |ug  IREENER TEVIIHGR RS w 0 BROR sEmER | A 0
HEKRIERE ol 11,570,000 ¥ sEmEe mErEs RS 0 P B i 137
Z=NBaxR
REWKIEE | of sar2000 | |DHEgmm  meEn e i ST 0 EEE i 14,202
SEEFILES it o PR g Fem @A ElE S 0 - i G of 11,117,506
o - 1T
TKEE BRHEHTKE IRTEARRIRIS | fai7 0 = 2 GEER | nof 380,083
o
STEMEXEEN | nf 11,570,000 Tith (thFE) nt 776,054
RENBXEEN | nf 3,472,000 Y EE® | of 33,399
FAERERIAAAD | A 8,856 TiHpERES i 0
B
HEKKETREAAD |\ 5,891 ZOMOESR nf 0




